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Kronecker's delta:

So, it's basically the identity matrix

Some properties of %

i ° 3‘\,;‘ :j\
:)_ . %\J\, = g\\ ‘{“g-LIW‘S% -=5

V]Q SUN\VV\W‘IQ'\_;\

5. SL()J SHE F b, +dsk by

b
L,




C 'Q) = QQW mp ;:g@a,ﬁ,«
L] ey
5%\3@%?” it o

Permutation or Alternating Symbol
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Another way to get these 6 values is to count how many
permutations are needed relative to

61,3
- Even number -> +1
- Odd number-> -1 %M mﬂl‘
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Use of alternating symbol

- Determinant of a matrix det A
- Inverse of a matrix )

- Cross product, curl C?,X \O VX \/
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In HW1 you'll show
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Show for any two indices the same, you'll get zero on the RHS 6‘2—“/4 —CLJK A 0| A)l AkP
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Some indicial notation examples:
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